2% 22 (B) 24 x 26
Ly~ 21 x 23

RITO
e 101G @)  MJFC
4 (HLABCD:; 1 WXYZ
() ZXW (B DCBA
. © JHPS B XURO
:'_ B, Zoology : Animal:: Psychology : __ ?
L (4)  Animal
Human-being
t Animal and human-being
:.-'I' ! (D) Plant
A Lifestarm embryo: : Life ends :
4 ? ~ (A) Oldage 7 Deadbﬂd}
@ (D)  Death

11.

i

13.

14.

15,

16.

17,

(A) Frog P S

5 ey
168-570

(A) 186-69 ®) '

© 1001-100 D). SEIEE

@) (64,216) o @ -

© (343, 01) ’P (125, 27)

(A)  Jammuand Kashmir

(B) Haryana

(O Himachal Prad esh
_(Dy~ Arunachal Pra desh

@d’/m (B) VEENS

(© EINN (D) VEIDD

A 17 BT 27

© 37 D) 47

(A), 63852~ B) 52638

40— 28751 D) 85362 .

(A)  Number
© W"-‘i;#'ﬁt




. = I
23 AACBBDCCEDDFEEGF_2_

‘W k@ GH
AG—FH © DG

24, RAZSBYTCXUDWVEV_?

A —WFU B FWU
&) XEX 0) ZAT

Directions : In question no. 25 and 26, which one set of
letters when sequentially placed at the gaps in the given letter
series shall complete it 7

T

25, a_ba_c aad_aa_ea
(A)  babbd (B) babbc
A0 —#acde (D)  babhkb
26. aa_aa bb_b_aa_aa bb bb.
(A)  bbbba (B}  aabbb
(C)  babba ‘_@__ bbbaa
LSte niii
27. IfDEAFis equal to 32, what will be LEAF = iy
(A) 48 B 50
<) 52 (D) 56
28, In a certain ¢ode, “CERTAIN” is coded as

“XVIGZRM”, “SEQUENCE" is coded as

“HVIFVMXV", How would “REQUIRED"” be
coded ?
(A)  VJIFWTRV (B)  WVIRIFVI

: the git
Directions : In question no. 31 from tie giv
select the word which cannot be formed using

the given word.
31. ‘CONSTITUTIONAL’
(A) LOCATION (B) _ |
TALENT ( LT
(©) : (,,03)"‘ i
32, If25+5=1530+6=20,then35+7=_72

50
75

(A) 20 (B)

92 D)

If 33 +45=30, 90 + 26 =40, then 30 +45=__ 2"
(A) 14 (B) 16
© 18 @) 15

AR L
It was Shriram’s and Sreedevi’s 12th Wedding

Anniversary. Shriram said “When we got
married, Sreedevi was 3/4'% of my age, but no
sheis 5/6" of my age”. What actually are their
present ages ?

Shriram 36, Sreedevi 30
(B)  Shriram 30, Sreedevi 24
(©)  Shriram 40, Sreedevi 34

(D)  Shriram 38, Sreedevi 32y

33.

34,

If 64 +14=5, 92 =
56+22=_2

(A) 39

e

- (O~ VIFRVW D) FIvwviR

o 36 D 11 .

p—— W

Fal » F B s s

———



Sherly starting from a fixed point goes 15 m

§]I° towards Northand then after turning to his right

“he goes 15 m. Then he goes 10, 15 and 15 metres
after turning to his left each time. How far is he

from his starting point ?
(A)  Smetres —{B" 10 metres
(©  20metres (D)

S
Conclusion] : All aged are wg
Conclusion II : Some women a

(A) y conclusion I follow
/{H/g:y conclusion II folle

(©) Neither conclusionInor
(D)  Both conclusion I and II follg

3

Statement I: All skaters are good swimum -,;f'
Statement IT: All good swimmers are iif
Conclusion I : Some runners are skaters, f

Conclusion IT : Some skaters are good sy

/fﬁrd Only conclusion I follows

(B)  Only conclusion II follows
(O  Both conclusion I and II follow

L
(D)  Neither conclusion I norII follow

If Alphabets are serially numbered, one of
answers given below has a meaningful »

hdde&lﬂ & é:l? answer

a-1.3

Mi‘si&%ﬁ

5,18,5,8,1,3,5,
2 E EH;}LE?

43. IFLUXOR is coded as 30, then GUIL
IfLUXOR is coded as




1 ¢ English alphabets, one
he '}kagf?n%g@f;fﬂﬁizf:ﬂm-

XNFAPSRWLTMDEXMC B

cxmtﬁ?vntﬂjzeﬂss

DDIPTEHRA_BEFGI;ZIUNE

I

T &
45, Howmany9sare followed by and preceed

numbers divisibleby 2?

159683496526073729413794173
498453976153195 ?4;_?_&353295?4%51
AT ® 8
© 10 O 12

46. From the givenanswer figures, select the one in
which the question figure is hidden/embedded

ed by

Question figure
Answer figures
)
!'I!! NA | &

w ® o O
Directions : In question no. 47, which answer figure will
complete the question figure 7
47.  Question figure

Answer figures

N7

(D)

49.

_ square sheet f has been HOICE
¥ s P;Eg:u You have to

nched as shown
%tfrnm amongst the four re:-.-;ponse figures
it will appear when opened 7
«  Question figure
Directions : In question no. 49, if a mirror is placed on the

line MN, then which of the answer figures is the right image
of the given figure ?

Question figure

M.t'_jl J_L{__L{_r-_- '{H

Answer figures
e | €

(A) (B)

SPACE FOR ROUGH WORK




50) A word is represented by
in any one of the alternatives.
Iternatives are represented

Directions : (Question No.
only one set of muntbers as given
The sets of numbers given in the a
by two classes of alphabets as in {00 matrices given below.
The columns and rows of Matrix I are numbered from 0 to 4
and that of Matrix Il are numbered from 5 to 3. A letter from
these matrices can be rr:']:rrfsmredﬁ rst by its row and next by
its column, e.g., ‘T can be represen ted by 31, 76 etc. and ‘G’
can be represented by 14, 33, elc. Similarly, you have to
identify the set for the word STAR.

50. Matrix -1
0 B R
(0 |G|V]E
1 ol e
2 "M | NI].E
3 O T I
O
Matrix - II e |
5 f 7 5 g
s R (BEHEeT] M G
6 N P vV E =
7 IM| T ]I ]|O]|N]|
g [EEEy | c | o]
gl A | R | S

a) 23,76,33,98 (
(B~ 14,87,98, 97
(C) 69,9603 56\

D) 99,31,86,98

—

46, Inan exa_mmatim

Y NI".'I{'.-\l"I'I.l':
YATES ONLY.
n, Ravi got 8 marks less
s and Amit got 5 marks More
5. Ravi cecured 2 marks
marks did Ravi

80% of total mark
than 70% of total mark
more than Amit. How many

secure ?
(A) 220 B 20
(@ o) 96

on 110, 47, from the given alternatives

Directions : It questi
t be _J‘bwnr-rd using the [etters

select the word which canno
given in the word.

47, CORRESPONDENT

(A) DESPA RATE (B) CORE

(@ RESPOND Dy PONDER

Directions : [n question no. 48 and 49, select the missing
niember/ letters from the groen

FESPOHSES.

48. 12 833,148, ?

=

(A) 265 (B) 465
e 565 (D) 765
49, EV,GT,JO,_?
(A) OP (B) LN
@ NM ©) MN
50, ZHYG:XFWI::?: UCTBE
(A) WEVD (B) WEYE
(O DEVW (D) VDUC -

—



bl,

56.

S

. @r TheBlecti
5 "ﬁﬁwﬁmcﬂm 2nd High Courts
ﬁ apparatus used for locating submerged
objects is known as :
(A) radar sonar
(© quasar (D) pulsar

Near which one of the following cities, the

Palitana Temples are situated 7
(A) Bhav Nagar (B) Mount Abu
(O  Mearke (D). Ujjain |
Main cause for agitations for separate states in
India is
(A) regionalism

B~ growing regional imbalances
(C) people’s political consciousness

()  social inequalities

Law of ‘Use and disuse’ was proposed by :
(A) HugoDe Vries (B)  Lederberg
(O Lamarck (D) Darwin

Which revenue earned by Union Government is
not djstributed among State Governments ?

Excise duty (B) Income tax
(€ Customsduty (D)  Noneof these
TI'hE substance that causes the worst air pollution
is
(A) smoke
(B) sul phJ{xr dioxide

(C) _ carbon dioxide

L

60.

61.

62.

63.

64.

65.

. I & Horw SR TOCR
s e kel which ives U1

: MEIE C:as‘:nie (B) m:-:"a -"_
: si i
Insat 4 ) Aflasd
BC stands for y5 VIR
](E) Java Data Base Conducf_'iv‘i'_t?. < iad
B) Java Developer Connectivity )

ectivity
&y JavaDatabase Conn ty
Java Developing Connectivity

C{D}ioose the correct one from amé’rk% '

following:

(A) Siksha - astrology

(B) nirukta - metre

(C) jyotisha - phonetics -
vyakarana - grammar

The famous book “ A Better India, A better world”
has been written by :
(A) Rajiv Sikri
(B) AzimPrem Ji
(C) N.R. Narayana Murthy
(D) Praveen Mahapatra
The world’s fastest growing water plant is
(A)  Water Chestnut
(B) Amazon water lily
(©  Water hyacinth
(D) Utricularia
The International agreement to reduc
greenhouse gases between 2008 - 2012 is knows
as ; 4

(A)  Agenda 21 B R
A€~ Rio Protocol (LS
Which of the following has recentl
the first cloned camel ? o

U.5 A :

(© IRAN e




e 1,
4, .

f Plaster of Paris 1S

ntof | 77. Chemical name©
: Government of . :
India ? _ ®) H}rdrated calcium carbona
(A)  The ChiefJusticeof Indi © Calciumhydrate
Law Secretary ‘ ; te
E Union Law Minister @y~ Calcium sulphate hemih 3;:“ gk
Attorney General of India 78. Who was the first envoy of the Ba h
/ v ion of to meet Jahangir in 1608 A.D ¢
69. ‘Milk of magnesia’isa suspens! Company
(A)  Magnesium sulphate (Ay~7 William Hawkins
(B)  Magnesium carbonate (B) William Edwards
A5 Magnesium hydroxide (O  Sir Thomas Roe
70 ::Ifj }n mm1 ‘:;?1: mm.;:;d_ Il the animal (gl vyt Ty
. a £ plants e Wor 185, a e anmmals
would also die due to shortage of 79.  Carbohydrates are compounds of
(A)  Shelter B) Cold air (A) Carbonand hydrogen
(O Food (D)~ Oxygen _(B)—"Carbon, oxygen and hydrogen
71. "’"‘ person opens his mouth on hearing a thunder (Q  Carbon, nitrogen and hydrogen
l: SR (D) Carbonand nitrogen
:iB} ﬂ"v'El'(,'l-;}I'nE fear ; 80, The growt h of bacteria is measured b}"
/,V :;']:q;ahse d:ﬁr:sm of air on both sides of (A) auxanometer
ear
(©  receive moresound A8 hemacytometer
(D)  allow air to come out of the mouth (©) spectrophotometer
72.  ‘El Nino effect’ is closely associated with (D) calorimeter
(& Gulf current 81. A governmentis classified
: f . g
(B)  Humboldtecurrent on the basis of as federal or unita
E Equat?ﬂa] CRRnier current ~A)" Relations between the centre and states
)  Canaries current (B)  Relations between the e :
73.  If a bacterium cell divides in eve 20mi legislature xecutive and t}
hﬂw m}, bmiﬂ wﬂ] r:}r ITIH‘I utEE, {c) .
A A bEfm'medmnmhnurs? Relations between th
:,;C; ; B) 16 Bovernment Tee organs ¢
@) N -
74.  Thestate dmfm&4 82. 'E‘i’M‘ st'::iommabm i
empire mm_wthf'ﬁpmnfthe British (AN s _S T K*
LAy Doctrine of 3 ® Hﬁt'ﬁ"'ﬂrﬂiﬂgw_ “_:l.-i "
(B ¢ alli “Tlft Vending Machine - '
ol m" Eh:troluc Vt t ' : "
hre: @4 Nm&hame d m ,r.';- . .
H: - . = L - =
75 " eeniceis heated from ° Cto 100 . g
bl ; s . 8



®) 'M“"Mmfmhe 7
86.  Which of the following are wrongly
()  Tropicof Cancer-23%°N latitude
(i) Tropicof Capricorn - 6614° N |ﬂi_!lmf.it"
(iii) International Date line - 0° longitude
(iv)  Antarctic Circle- 6612° 5 latitude
A @
| BT (i) and (iii)
'I © (0 (i)and (iv)
(D)  None of these
The tributary of River Indus which flows through
Himachal Pradesh is
(A) Hunza (B)  Sutlej
(©  Beas (D) Ravi
_Which one of the following is an essential
ingredient of parliamentary government ?
A written constitution
(B) A rigid constitution
(©  Political parties
(D) AnIndependent judiciary

m?gh which states does the river Chambal

_.__Lﬁ}"" U;P., M,?, Rﬂjas'[han
(B) MP.,Gujarat, Up
© Rajasthan, M.P,, Bihar
m} Gujarat, MPU mlatﬁggarh

The contents of :
v pore _”‘f;"ﬂ'? will not be lost, when
(&) Rom 7

g . L
" l“a
|' Nale

87.

a gl

W i futrictsof the compEy K58
(A) Navoday vidyalaya i
(B) RajivGandhiGm@ aran
(C) Sarva Ghiksha Abhiyan »
M.G. N. R E. G. Programme .~. .
94,  Which one of the following Cricketers I .

declared by the ICC as 'Cricketer of the
Century'?-
(A)  Anil Kumble
By Sachin Tendulkar
(O Kapil Dev
(D) Rahul Dravid f
As per the 2011 population census, the most
populous state in the country is
(A)
(B) Madhya Pradesh
A=y ” Uttar Pradesh
(D)  West Bengal

, S, Sy ey s : - A
Which one of l!n: tollowing is not an internal
tactor for industrial sickness ?

(A)

(B)
{O—"Technological Obs lescence

(D) Wrong dividend policy

Vikramshila University was founded by

(A) Chandra Gupts
Kanishka 5 "«-’Iaurya

©) Dharampala
D)  Pulakesin 1
Acidity of rain js mea
(A)  Barometer (B) v
Q  Ammeter - pr
% : B

or h;h::h one of the following, are
{-ﬁ} . s A ]

(O

‘lhﬁ“ltum '. @-i

* ‘i [
Rajasthan ‘%

96,

Mismanagement
Diversion of funds

98,
Sured by

Pl




101.
F.

3
lt%ll}l.

¥

PART - C
I ~ QUANTITATIVE APTITUDE

B v
w1 @ WA PR

, Tuesday

¢ Monday, Tuesda

The average lemPEraFE " a1 of Tuesday,
and Wednesday wa was 33° C. 1f the

ay
Eféﬁiﬁdﬁg:ﬁ was 32° C, then the
m

tempemtureﬂnm““da}rwasz 11 C
(A) 30°C (B) . 1 X
0" e R

A watch is sold at a pmfit of 30%. Had it been
sold for 2 80 less, there would have been a loss of
10%. What is the cost price in rupees ?

= A 200 (B) 400
(@ 800 D) 150
103. The mean of 19 observation is 24. If the mean of

the first 10 observations 15 17 and that of the last
10 observations is 24, find the 10'" observation.
(A) 37 B) 46
© 53 D) 65

R‘a nd r are the radius of two circles (R>1). If the
distance between the centre of the two circles be

1:.:1* then length of common tangent of two circles
153

(A)

(B) (R =1)? - g2

106.

107.

108.

109.

of 10% is given on thE% -
the publisher gains 2{] 0
ased to 15%, the gampm

If a cnmmiﬁﬁinn
price of 2 wquf., .
commission 15 incre

15 :
£ 3%

(). 1657 ® s

ey Eog D) 15%
[{ } : (4]
If (5x2— 3y2) : xy =112, then the positive valu
ot x/yis:
o B 3/2
' 3 Dy i

}g,;;/" 5/

A boy standing in the middle of a field, observe
a flying bird in the north at an angle of elevatio
of 3° and atter 2 minutes, he observes the sam
bird in thl south atan .Ang;lr'ul elevation of 60°, |
the bird flies all alongina straight line ata hEigI'l

of 50 /3 m, then its speed in km/his:

(A) 3 B 9

@/ ¢ D)y 45

By selling 9 articles f p
loss of 49, o Orarupee, aman in

; ake a gain of .
articles to be so1d fora mpee‘l’l:%’ the num
A) 3 i

TSIETE

=3

I'llh_



a3t C . centreO. CDis
ABis nﬁi@#‘e:}'ﬁ! circle. ACand
heradius

\B s a diameter
o qﬂl‘b atP. Then the measure
e

ﬁi}_ﬁﬁf‘ﬂiﬂ: ® 60°
il o 12
B A A
" 112, The least value of 4 coseca + 9 SIS
F @A) 10 LR
1 © 12 D) 14

i i les right-angled
e perimeter of an isosce |
v Thﬁangle ils 2p unit, The area of the same traingle

B
(A) (2+J2)p*sq. unit
B (- J2)p’sq. unit

© (3-.42)p*sq. unit

([El/’ (3=2.2 )p?sq. unit

114. TG is the centroid of AABC and AC = BC, then

£BGCis
[A} 45° m‘j g(°
©Q s0° O 75

115. Prabhat took a certain amount as a loan from a
bank at the rate of 8% P-a. simple interest and
: gave the same amount to Ashijsh asa loan at the
. F rateof 12% p.a. Ifat the end of 12 years, he made
- aprofit of T 960 in the deal, then the original

- amount was:

- Xiog (B) 2 2000
@ 4 '“_.:; fD} ? sais

B¢ ABC, 2B is the right
p -B.C-"“zmthm

b

117.

118.

119.

120.

121,

© 15 |
y) tan(x — y) =1, then the value of

If tan(x +

is: ;

(A) 1 (B) 1/ :
s S 4 D) 3 j

Ifax+by=6,bx—ay=2and x?+ y? =4, then the
value of (a2 + b?) would be : .

® 4
© 10

The perimeters of two similar triangles 4
and APQR are 36 cm and 24 cm respective
PQ=10cm, then AB is :

(A)
©

10 cm

(B)
D)

15¢cm

20 cm 25cm

P is 2 point outside a circle and js 13 cm
fromits centre, A secant drawn from the
Intersects the circle at points A and B in &

Way ﬂ'l.atPA-.;g,Cm and;"’lB
of the circle is - o ?m'.l-.l




T o
1
. 2
126, The greatestio.that will divide 19, 35 and 390
£l ﬁﬁmmmdermgachcaae:s:
YV (A B I B 7
(A 19
125. TfcotA + cosecA =3 and A isan acute angle, then
the value of cosA is:
(4) 1 ® 1/2
©Q 3/4 D) 4/5

126. The area of the largest triangle that can be
inscribed in a semi circle of radius x in square

unit is ;
{A) Gzt
3 3xt

127, Tfa= 3 =2

=

2 2
ﬂf%"!-b—is:

a
(A) 970

) 930

(B) 2x?
D) 4x?
3. 42

—=——, then the val
B-h e value

(B)
D)

1030
900

: 1
128, Ifa 1“';:2— =0, then the value of

ple
fa+

i:‘g:t

o A

6

133,

131.

132,

ture of two liquids A
in the ratio 4 : 1. When 101t i‘:}f the mix
replaced with liquid B, the ratio becomes

The volume of liquid A present in the jar earlier

was : .
(&) 101t B 161t
Q 151t D) 201t

A jar contains a mix

Area of the triangle formed by the graph of the
line 2x—3y +6 =0 along with the coordinate
axes is :

(A)  3/2sq. units (B)  3sq. units
(@  6sq. units D)  1/2sq. units
If o

@ is a positive acute angle and
Zsina+15cos’a =7, then the value of cota js -

(A)  4/3



136.

ﬂpﬂﬂfﬂr i.ﬁﬁwmtalﬁummdﬂ the rest of
&Eﬂjﬁmfi’f the whole time. Out of a profit of
% 19,400, Bs share is :

T 1600
¥ 2000

®)
)

(&) T1200
@ %1800

Area of the trapezium formed by x-axis; y-axis
and the lines 3x+ 4y =12 and 6x + 8y =160 is :

(A) (B)
©Q )

31.5 5q. unit 48 5q. unit

36.5 5q. unit 37.5 sq. unit

A train overtakes two persons who are walking
in the same direction in which the train js
running, at the rate of 2 kmph and 4 kmph and
passes them completely in 9 and 10 seconds
;Ee?pec-thre]}r. The length of the train (in metres)

141.

142.

143.

@)
©

If (a®—
w&muf tang js

(an_‘,bz} i5° ('B} 20
o ©)
—at =tb t |'
* d cos sinf =D, then
I tand = €O 0 O s Al
value of (@ ) 2
AT g (B)
@ 3
L hen the value of alis: cq'r\ 4
B sy hen ' c
@) 2 ®, =5 :
© 4 O -2
D and E are the mid-points of AB and AC
AABC; BC is produced to any point P; DE, DP.
and EP are joined. Then, ]
(A} APED=ABEC
(B)  AADE=ABEC
(©  ABDE=ABEC

24
15

b?) sing 4o ‘ab_msﬂ:;, :




% 149
TE _ %_ 3
: S "1'. i ; 1 U'!
ard o i'ﬂ-?;: () BSNL Lt: 15
& Ol grisslber ) "L [] Airtel
18 1 - I
ey g 8¢ [:] Aircell
ST ke
el 1%
E“”" s H 146.
© 127 o - |
T 11 : : : |':|
g 10 1 |ili—- - - m ‘
gorli : | ‘
= ; ; I
B x E | W
el . N i 147.
ed : : | I
B 44 : ‘: _|
.ﬂ 34 i e | I el
Sl B E e
2 L3 il S |
Gujarat Tamil Nadu Assam  Kerala 148

146. The range of BSNL simcard sold in the 4 states in

lakhs is ;

An arc of a cir g 7 th
ar?g?e of 15° at the centre. Taking ™ /7
length of the arc is : o o

(a) 1lcm

(© 44/5cm (D) 88/5cm

In aschool, 10% of the boys are same in numbe
as 1/4 of the girls. Whatis the ratio of boys t
girls in that school ?

(Ay " 3:2 @) -5l

Train A of length 180 m and speed 72 km/hou
crosses train B of length 120 m and spee

108 km/hour moving in the opposite directios
mn:

(A)
©

24 seconds
6 seconds

(B)
(D)

and the rate of depmciaﬁmﬁﬁii‘%i% ‘he val;
of the van after two e

S . .
LE ek

yearsis:



LA} T =
any other scientist in the world /| DO ELZ
(@

152. Belgiun chocolate {5 cgngidered /
(A)
by many to be finer /
(B)
than any others in the World /
(@]

no error

(D)

153. My grandfather owns [{ifty acre / of wet land /
(A) (B) (©)

Noerror

154. Our history can be seen as a long evolutionary lw

.
-l B) ;

LT AT ]_'E].SE

Directions [y qUE
with Blanks 10 be

G

i b " 5“3 . F
alternatives are I wr
e [0
toft f 1

alternative ol hr
appro j'??‘r'ﬂ te pectang
T ¥ "t et
156. we didn
a huge g1cCess:
(A) accep!

y/’ expect

[ suffer from no
capabil ities.

(A) illuﬁiﬂnsl
(©) hallucinations

about m¥

/H?)/ doubts

(D) imaginations

4 bid to make Bihar, &

158, The gnvnmmeni, in & _ :

]_'H'i;‘_ff;?['l‘-[‘d investment destination, haz
S - miajor schemes tO create

nfrastructure at different stages.
« launched (B) opposed
(©)  opened (D) pushed

159. Th.L‘ Sf:udl_ent’a aren’t prepared the
examination,
{g’ ogve (B _ tolisten
( owork tobals

160. We should _ o .
arise Opportunities as ﬂ-.é‘i

cease

e © sl

Directions : In guestion

_ no. 161 ¢
nItefﬂH#ﬂtS, choose e oneavhich b ﬂK: ‘_
161. Dll ] ity




Wﬁ" s mﬁgmbﬂ substituted for the
181 One indifferent to art and literature 1s
 (A) aromantic THuc

(), philistine (0) scholar

182. 'ﬁmtuiniurynﬂ:ﬁtidsm".
&7 Invincible (B) Vulnerable
(C) Naive (D) Sensitive

183. Government by a small group of all powerful
persons
Fal Oligarchy (B)  Monarchy
(@Q  democracy (D)  Anarchy

184, A narrow piece of land connecting two large

masses of land
,@Y’, isthmus

peninsula
continent Dy gulf
185. One who collects coins as a hobby
(A) philatelist (B) ornithologist
(O statistician L{P_},/ numismatist

Directions : In question no. 186 to 190, there are four
different words aut of which one is correct] y spelt. Find the
carrectly spelt word and indicate it by blackening the
appropriate rectangle [wm] in the Anstwer Sheet.

186. (4)  benificial (B)  beneficil
Q“' bﬁﬁﬂﬁr;al D)  benifical

187. (4) (B} internal
: e y
-:-:‘-';,Q/ _ e D) fortunetely

' 4B apprehension
. :m] aprihension
i,

Directions : Inn ques""
passages with

pAssages i
out of the ﬁuum.’ff.mnrmn and

Passage - | Question

191.

192,

193.

'S/T_hat it is to some
understand

tion no. 191 mzm,pum_ .
Equﬁnﬂnﬁﬂfauﬁngmdlmﬂ_ e
choose the best answer 0 e
mark it in the AnSwer=2

No. 191-195 |
[f this is 5o, if to read a book a? 1tsl'ton_!§ L 5
1 calls for the rarest Qualities of imagination,

edc |
irnsight and judgement. You may perhaps

conclude that literature is a very complex aﬁm
that it is unlikely that we shall be able, even vl
4 life time of reading, to make any valua e
contribution to its criticism. We must remain
readers, we shall not put on _t!le_fjlrmer gf_ﬂ_i'fr ;
that belongs to those rare beings who are also
Critics.
What are the Qualities required for reading a
book ?
(A)
(B) |
AEr— imagination, insight and judgement ..
(D) none of the above

According to the author
“Q‘;}"'Mos.t of the people can contribute to

criticism of literature

Wﬂyﬂmf

proper judgement
imagination

(B)  Itisnot possible for most of us to contribute
anything for criticism
(©)  Ttis possible to do so mething
(D)  Itisnoteven easy to understand literature
What is the opinion of most of the
literature ? il
f;;} E:t itis very easy to understand
t it is not an eas one i
b i e to contribute

extent dify

@)  That no contribution e
L ion is pee

g
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(A) everybody R

waters is now a matter of national policy in @  mostolthe politic -
dozens of countries including the U.S.._ and G ol W“Clﬂm
world leaders are beginning 10 gre:?cnbe a i ticians
mnluﬁgnmmmdyﬂutmmahnmslm have M v agrees
been promoting for years: marine planning and
- 200. ‘Conservationist’ means
The idea is a natural extension of ) aprﬂficientspﬁkgr—
management policies that have guided the s 4
development of cities and landscapes for nearly (B) am gi
a century. Zoning advocates envision a mosaic © one who looks after others s
e e y)/‘;n e who prevents something fl'l;m!l“'Ld
on the planet is designated for a particular ; AL _
purpose. Drilling and mining would be allowed
only in certain parts of the ocean; fishing in
others. The most critically threatened areas S

would be virtually off-limits.

Whereas people can easily find maps
telling them what they can do where onland, the
marine realm is a hodge-podge of rules
emanating from an army of agencies, each one
managing a single use or symptom.

196. Seazoning is all about

{A) “dividing watery space for specific
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